
𝑦 = 𝑓(𝑥) 𝑥0

lim
∆𝑥→0

∆𝑦 = lim
∆𝑥→0

[𝑓(𝑥0 + ∆𝑥) − 𝑓(𝑥0)] = 0,

𝑦 = 𝑓(𝑥) 𝑥0 𝑥0 𝑓(𝑥)

𝑦 = 𝑓(𝑥) 𝑥0

lim
𝑥→𝑥0

𝑓(𝑥) = 𝑓(𝑥0)

𝑦 = 𝑓(𝑥) 𝑥0

𝑓(𝑥) 𝑥0 𝑥0 lim
𝑥→𝑥0

−
𝑓(𝑥) = 𝑓(𝑥0)

𝑦 = 𝑓(𝑥) 𝑥0

𝑓(𝑥) 𝑥0 𝑥0 lim
𝑥→𝑥0

+
𝑓(𝑥) = 𝑓(𝑥0)

𝑦 = 𝑓(𝑥) 𝑥0

𝑓(𝑥) 𝑥0 𝑓(𝑥) 𝑥0

𝑓(𝑥) 𝑥0 𝑓(𝑥)

𝑥 = 𝑥0

𝑥 = 𝑥0 lim
𝑥→𝑥0

𝑓(𝑥)

𝑥 = 𝑥0 lim
𝑥→𝑥0

𝑓(𝑥) lim
𝑥→𝑥0

𝑓(𝑥) ≠ 𝑓(𝑥0)

𝑓(𝑥) 𝑥0 𝑥0 𝑓(𝑥)



𝑥 = 𝑥0 𝑓(𝑥) 𝑓(𝑥0
−)

𝑓(𝑥0
+) 𝑥 = 𝑥0 𝑓(𝑥)

𝑓(𝑥0
−) = 𝑓(𝑥0

+) lim
𝑥→𝑥0

𝑓(𝑥) 𝑥 = 𝑥0

𝑓(𝑥0
−) ≠ 𝑓(𝑥0

+) 𝑥 = 𝑥0

𝑥0 𝑓(𝑥) 𝑥 → 𝑥0 𝑓(𝑥) → ∞ 𝑥 = 𝑥0

𝑓(𝑥)

𝑥0 𝑓(𝑥) 𝑥 → 𝑥0 𝑓(𝑥)

𝑥 = 𝑥0 𝑓(𝑥)

𝑓(𝑥) 𝑔(𝑥) 𝑥0 𝑓 + 𝑔 𝑓 ∙ 𝑔
𝑓

𝑔
𝑔(𝑥0) ≠ 0

𝑥0

𝑦 = 𝑓[𝑔(𝑥)] 𝑦 = 𝑓(𝑢) 𝑢 = 𝑔(𝑥) 𝑈(𝑥0) ⊂

𝐷𝑓°𝑔 lim
𝑥→𝑥0

𝑔(𝑥) = 𝑢0 𝑦 = 𝑓(𝑢) 𝑢 = 𝑢0

lim
𝑥→𝑥0

𝑓[𝑔(𝑥)] = lim
𝑢→𝑢0

𝑓(𝑢) = 𝑓(𝑢0)

𝑦 = 𝑓[𝑔(𝑥)] 𝑦 = 𝑓(𝑢) 𝑢 = 𝑔(𝑥) 𝑈(𝑥0) ⊂ 𝐷𝑓°𝑔

𝑢 = 𝑔(𝑥) 𝑥 = 𝑥0 𝑔(𝑥0) = 𝑢0 𝑦 = 𝑓(𝑢) 𝑢 = 𝑢0

𝑦 = 𝑓[𝑔(𝑥)] 𝑥 = 𝑥0



𝑓(𝑥) [𝑎, 𝑏] 𝑓(𝑥) [𝑎, 𝑏]

𝑓(𝑥) [𝑎, 𝑏] 𝑓(𝑥)

[𝑎, 𝑏]

𝑓(𝑥) [𝑎, 𝑏] 𝑓(𝑎) 𝑓(𝑏)

𝑓(𝑎)𝑓(𝑏) < 0 𝜉 ∈ (𝑎, 𝑏)  

𝑓(𝜉) = 0

𝑓(𝑥) [𝑎, 𝑏] 𝑓(𝑎) = 𝐴

𝑓(𝑏) = 𝐵 𝐴 𝐵 𝐶 (𝑎, 𝑏) ξ

𝑓(𝜉) = 𝐶(𝑎 < 𝜉 < 𝑏)

𝑓(𝑥) [𝑎, 𝑏] 𝑀 𝑚 𝑓(𝑥) [𝑎, 𝑏]

𝑚 < 𝜇 < 𝑀 𝜇 𝜉 ∈ (𝑎, 𝑏)

𝑓(𝜉) = 𝜇


